Chemistry 115 -					Name 					
Dr. Cary Willard
Quiz 4A (20 points)					October 1, 2008

All work must be shown to receive credit.
Avogadro’s number = 6.022 x 1023/mol

1. (4 points) Calculate the number of moles of gold (Au) that have a mass of 4.82 g.






2. (4 points) Calculate the number of molecules of hexane, C6H14, in a 5.47 mol sample of hexane.






3. (4 points) Calculate the number of moles of hydrogen atoms in a 21.8 mol sample of hexane.






4. (8 points) Calculate the empirical formula of a compound that is composed or 25.2% titanium and 74.8% chlorine.



Chemistry 115 -					Name 					
Dr. Cary Willard
Quiz 4B (20 points)					October 1, 2008

All work must be shown to receive credit.
Avogadro’s number = 6.022 x 1023/mol

1. (4 points) Calculate the number of moles of gold (Au) that have a mass of 3.75 g.






2. (4 points) Calculate the number of molecules of hexane, C6H14, in a 3.48 mol sample of hexane.






3. (4 points) Calculate the number of moles of hydrogen atoms in a 42.6 mol sample of hexane.






4. (8 points) Calculate the empirical formula of a compound that is composed or 42.6% tin and 57.4% bromine.


 

